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0.7 2.3 3.52 1.98 2.95 493 40 60
1 33 3.21 2.84 2.69 553 51 49
1.2 4 2.00 344 1.68 5.12 67 33
15 5 1.98 4.30 1.66 5.96 72 28
1.7 6 1.1 516 0.92 6.08 85 15
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aa 2=(3)
1M 2+ ME
MHIE(kg) 212.0 270.0 260.0 * 285
HAHS (kg) 191.0 260.0 2520 + 286
PEZEH%) 9.9 37 30 £05
2EHF (kg) 113.2 159.8 1472 + 26
H=HE (ko) 108.6 1524 1407 + 25.8
EHIE (%) 56.9 58.6 555 + 3.9
HMEE (ko) 888 126.2 101.1 £ 207
HEE A (%) 465 486 458 + 39
H2E B (%) 817 828 825+ 14
el HEE (kg) 847 1217 114 + 226
72l HeE A (%) 443 451 437 =39
el HEE B (%) 779 81.2 812 + 11
X A HAIMSY| B : =S| | BE3, /EsE  ZHl=Y
2, FE-5 A
e A=1(3)
15Ml 2+ Ml =
7(kg) HI&(%) 7kg) HIE(%) 27(kg) HIE(%)
HAHIS 191.0 260.0 2520 + 286
LR 1086 100 1524 100 1417 + 258 100
s 227 2.1 3.10 20 29 + 04 2.1
AR 0.15 0.1 0.41 0.3 02 £ 0.0 0.2
M 8.69 8.0 13.18 8.6 131+ 27 9.3
ik 31.04 286 38.61 253 341+ 49 24.2
Aurt2| 9.53 8.8 14.18 93 142 + 34 10.1
UL 367 34 491 32 44 + 07 3.1
FIALER 493 45 6.07 4.0 55+ 09 39
Xlopa 2.33 2.2 286 1.9 25+ 03 18
UX| 6.84 6.3 10.94 72 109 £ 23 77
2| 11.04 105 16.82 1.0 147 £ 26 10.4
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15M 2% Ml M2
ZAkg) | HIE%) | kg | HIE%) ZAlkg) HIE(%)
HAHE 191.0 100 260.0 100 2520 + 286 100
H=HES 108.6 56.9 1524 586 1417 + 258 555 * 3.9
Eot 4,04 212 11.08 4.61 88+ 15 35+ 04
oz 8.86 464 1250 481 129 + 14 51+ 02
ct2| 6.02 315 7.08 272 66 + 1.0 26 £ 02
7= 15.98 8.37 20.40 7.85 194 + 38 76 + 06
LHE 40.60 21.26 44.22 17.01 521 + 4.1 209 *+ 36
4, ZA=A
e A3(B)
15Ml 2% Ml Y-
PAkg) | HIE%) | FAke | HIE%) 2Alkg) HIE(%)
HAHIS 191.0 260.0 2520 + 286
=S 1086 100 152.4 100 1417 + 258 100
Hg 847 779 1217 798 1144 + 226 812 + 1.1
b 19.8 182 26.1 171 243 + 27 175 +14
NEY 41 38 46 30 19+07 14+ 03
% Mg ZH|=g
O =& ¥ A5& (20054
a2 23(3)
15 Ml 2% M 4=
HEAHIE (ko) 191.0 260.0 2520 + 286
HEHS (kg) 1086 152.4 1407 = 258
EXE (%) 56.9 58.6 555 + 3.90
HES (ko) 88.8 126.2 1011 + 20.7
HEE (%) 817 82.8 825 +14.0
72 HES (ko) 847 1217 140 + 226
2 HEE (%) 779 81.2 812 + 1.1

x BS8 : EAE U, HS3, el 835 : ZelmE
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14 M| 24 M| NE
2kg) | HIB%) | FAke) | HIB%) 27l(kg) HIS(%)
HAHIS 191.0 260.0 2520 + 286
HeXE 108.6 100 152.4 100 1417 + 258 100
QA 227 2.1 3.10 2.0 2904 2.1
EAN 0.15 0.1 0.41 0.3 02 + 0.0 0.2
=N 869 80 13.18 86 131 + 27 9.3
=z 31.04 286 38.61 253 341 £ 49 24.2
| 9.53 88 1418 9.3 142 = 34 10.1
QEALEN 3.67 34 491 3.2 44 + 07 3.1
FIAEY 493 45 6.07 4.0 55+ 0.9 39
|0kt 233 22 2.86 1.9 25 +03 1.8
2N 6.84 6.3 10.94 7.2 108 £ 23 177
ZH| 11.04 105 16.82 1.0 147 £ 26 104
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